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) A : Where is your father from? B : He is from a small in the UK.
(A) germ (B) toilet (C) town (D) floor
) A @ What’s the of the meeting? B : It’s on January third.

(A) time (B)day (C)date (D) month
) Cathy is not happy. |canseeitfromher
(A) face (B)touch (C)fun (D) bath
) A:Whatdoyou  ? B : Some butter and five eggs.
(A) need (B)help (C)water (D) teach
) A : The English questionsare . B : Don’t worry. I can teach you.
(A) yummy (B)easy (C)brown (D) difficult
) Milton’s in math are not good. He is so sad.
(A) sides (B) grades (C) touches (D) dollars

) John teaching dancing in Taipei last year. He has twenty students now and works three days a week.

(A) threw (B) bought (C) began (D) brought
) Zoe : There are eight cups here, and Joan needs five.
Tim : That’s great! She doesn’t need to buy any new ones.
(A) just (B)even (C) later (D) so
) Jerry helped his parents do the dishes yesterday, but he broke some platesand
(A) water (B) glasses (C) rice (D) noodles

) Let’s talk about this movie. Please write downyour  about it.
(A) points  (B) dollars (C) sides (D) teams

) Teresa must like the doll.  She can’tstop ({£1l-) _itor playing with it.
(A) happening (B) practicing (C) winning (D) touching

) Yesterdaywas February twenty-ninth. So, todayis = first.
(A) January (B) May (C) March (D) April

)A:  youplaytennis? B :No,I . |play badminton.
(A) Do; can’t (B)Is;isn’t  (C) Are; amnot (D) Do; don’t

)A:Where  yougoyesterday? B:l  with my brother at the beach.
(A) do; swim  (B) did; swam (C) does; swam (D) did; swim

)A:  water doyou want? B : I need three bottles.

(A) Which (B) How many bottle (C) How much (D) How many
) A : Do you have any books? B: Yes butnot
(A)some (B) much (C)any (D) many
) Mary : Is Jennifer always happy? Sean: No,
(A) she always is  (B) she is always (C) she seldom is (D) she is seldom

) The tree short last year, but it’s tall now.
(A)is (B)ywas (C)are (D) were
) My classmates and | play on Wednesdays after school.
(A) abaseball (B) the baseball  (C) baseballs (D) baseball
) A @ When your sister go to the movies yesterday morning?
B : She there at 10 a.m.
(A) did; went (B) do; goes  (C) does; went (D) did; goes
) A: Who a thin face and big eyes?
B: Well... my little brother, Bill, , 1 think.

(A) are having; is  (B) have; are (C) has; do (D) has; does
) This Wednesday is Linda’s birthday, and her parents are preparing a party for her.
(A) eight (B) twelve (C) seventeenth (D) twenty-three
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Ans :

) Sam always to music (Z%%) before he went to bed, but he doesn’t now. Instead, he computer games.
(A) listens; plays (B) listened; plays  (C) listened; played (D) listens; played
) Sara went to the show . She liked it a lot and wanted to watch it again.
(A) tonight  (B) tomorrow evening (C) next weekend (D) ago
) May:  youtonight? Ben : AtJoan’s birthday party.
May :  the party? Ben : Great. Everybody was happy there.
(A) How were; How was  (B) Where was; Who was  (C) What was; What was (D) Where were; How was
YA:  doyou like, guavas strawberries?
B : Guavas. They are my favorite (5z=%HY) fruit.
(A) How many; and (B) How much; or (C) Which; and (D) Which; or

) A i 1didn’t see Ted this morning. Where ~~ he?

B : Oh, he in his room this morning.

(A) did; was  (B) was; read  (C) were; studied (D) is; slept
) Ted:  youat Uncle Tom’s house at nine yesterday morning?

Zoe : No, | was at school . There was a math test from nine to ten.

(A) Was; then  (B) Were; then (C) Wasn’t; at that time (D) Weren’t; two days ago
)>A:  hotmilk do you want?

B : One cup is enough, thanks. Bytheway,  you help me?

A : Of course. What can | do for you?
(A) How much; do  (B) How much; can (C) How many;do (D) How many; can

) A @ How much guava juice thereonthetable? B : There  twoglassesonit.
(A) are;are (B)are;is  (C)is;are (D) is;is

CCAAD BCABA DCDBC DCBDA DCBAD DBBBC
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